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KEY WORDS 

 

Numeracy | percentages | decimals | ratios | numbers | volume | 

measurement | graphs | statistics | trends | profit and loss | sales | 

analysis | budgets 

 

ALSO USEFUL FOR 

 

Business studies | Economics | Agriculture | Agribusiness | Science | Chemistry 

 

PROGRAMME OUTLINE 

 

3 POINTS OF CONTACT  

• Company staff come into classroom (x2)   

• Workplace visit (x1) 

 

EXAMPLE 

  

1. Plant staff come into classroom, introduce themselves, background to the company, their 

careers and how maths is used in the industry.  Student activity: graphs 

2. Workplace visit includes health & safety overview, tour of plant, meeting staff and hearing 

about different careers.  Seeing chemical manufacturing ‘behind the scenes’.   

3. Company staff come into classroom.   

Student activity: volume and ratios.  
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Below is a sales volume per month graph for Enforce 2 Plus 

 

 

 
Question 1: 
 

Approximately how much is sold in January? ________________ Kilograms 

 

Approximately how much is sold in June? ________________ Kilograms 

 

Approximately how much is sold in October? ________________ Kilograms 

 

Approximately how much is sold in December? ________________ Kilograms 

 

What is the difference in Sales between June and December? 

 

_________ Kilograms (December) – _________ Kilograms (June) = __________ Kilograms 

 

What could be the reason for this difference in Sales (Name three possible reasons)? 

1. ___________________________________________________________________________ 

2. ___________________________________________________________________________ 

3. ___________________________________________________________________________ 
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Question 2:  
 

Only looking at the sales for Enforce 2 Plus from January to April:  

 

What is this part of the graph telling us? 

 

 
 

 

What is the trend this part of the graph showing (Circle correct answer)? 

 

Increasing   Flat   Decreasing 

 

 

What does this mean to the profit of the company? 

 

___________________________________________________________________________ 

What could you do to change this trend?  

 

___________________________________________________________________________ 
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Question 3: 
 

Only looking at the sales for Enforce 2 Plus from August to Dec:  

 

What is this part of the graph telling us? 

 

 

 
 

What is the trend this part of the graph showing (Circle correct answer)? 

 

Increasing   Flat   Decreasing 

 

 

What does this mean to the profit of the company? 

 

___________________________________________________________________________ 

What could you do if this trend continues?  

 

___________________________________________________________________________ 
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Question 4: 
 

Looking at the sales for Enforce 2 Plus in a Pie Chart format:  

 

What is this graph telling us? 

 

 
 
Are you able to see any trends in this graph (Circle answer)?     Yes  /  No 

 
Why can you see or not see any trends with this type of graph? 

 

___________________________________________________________________________ 

 

Can you use this graph to show people which month has the biggest Sales?   Yes  /  No 
 

What is it about this type of graph that allows you to show the biggest sales month?  

 

___________________________________________________________________________ 

  

Enforce 2 Plus - Sales per Month
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Question 5: 
 

Looking at the sales versus Budget Graph for Enforce 2 Plus:  

 

What is this graph telling us? 

 

 
 
Looking at the above Graph. Does it look like we are making a profit (Circle answer)?   

 

Yes  /  No 

 
What is it about the graph that makes it look like we are making a Profit/Loss? 

 

___________________________________________________________________________ 

 

Which month(s) show as a loss?  

 

___________________________________________________________________________ 

 

Which month appears to show the greatest profit? 

 

___________________________________________________________________________ 
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You have been asked to make the following mix 
 
Product Name: Enforce 2 Plus 
 
The Raw Materials that are required to manufacture this product has the following chemicals: 
 

Item 
Number 

Chemical Description 

1 A (Water) 

2 B (Caustic) 

3 C (Chlorine) 

4 D (Surfactant) 

5 E (Dye) 

 
 
Question 1: 
 
Below is the “recipe” for 1kg of Enforce 2 Plus.  
 
How much of each chemical is required to make 10,000kg? 
 

Item 
Number 

Chemical Description 1kg 10,000kg 

1 A (Water) 0.50 
 

2 B (Caustic) 0.25 
 

3 C (Chlorine) 0.14 
 

4 D (Surfactant) 0.10 
 

5 E (Dye) 0.01 
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Question 2:  
 

The Maximum Volume that can be mixed in Mix Vat 3 is 4,800kg. There needs to be a gap 

at the top of the Mix Vat for Safety of 200kg.  

 

How much of each chemical is required to make 4,600kg? To the nearest 0.5kg 

 

Item 

Number 
Chemical Description 1kg 4,600kg 

1 A (Water) 0.50  

2 B (Caustic) 0.25  

3 C (Chlorine) 0.14  

4 D (Surfactant) 0.10  

5 E (Dye) 0.01  
 

Question 3: 
 

Only 1 drum of Chlorine was found on site. 

 

1 Drum of Chlorine is 280kg.  

 

How much Enforce 2 Plus can now be manufactured?  

 

Item 

Number 
Chemical Description 1kg ________kg 

1 A (Water) 0.50  

2 B (Caustic) 0.25  

3 C (Chlorine) 0.14 280 

4 D (Surfactant) 0.10  

5 E (Dye) 0.01  
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Question 4: 
 

A customer order comes in for “Lucky Cow Dairy Company”, which is for 22 

Drums and 30 Jerries of Enforce 2 Plus. 

1 Drum = 200kg 

1 Jerry = 20kg 

 

4a: 

Work out how much Enforce 2 Plus is required: 

 

22 Drums   x   _________kg   =   _________kg 

 

30 Jerries   x   _________kg   =   _________kg 

 

 

Total Volume of Enforce 2 Plus required: 

 

Drums Volume      Jerry Volume 

  _________kg   +   _________kg   =   __________kg 

 

Enter the new Volume required in the table below 

 

4b: 

How much of each chemical is required to complete this order to “Lucky 

Cow Dairy Company”? 

 

Item 

Number 
Chemical Description 1kg ________kg 

1 A (Water) 0.50  

2 B (Caustic) 0.25  

3 C (Chlorine) 0.14  

4 D (Surfactant) 0.10  

5 E (Dye) 0.01  
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Ratios answers 

 
Question 1.  

 

 

 

Question 2. 

 

 
 

Question 3.  
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Question 4a.  

 

 
 

 

Question 4b.  
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You have been asked to pack out the following Mix 

 

Product Name: Enforce 2 Plus 

 

Mix Vat 2 = 9,000 Litres 

 

 

Question 1: 
 

Packing Enforce 2 Plus out of Mix Vat 2 (9,000 Litres)  

 

 

How many 200 Litre drums will you get out? ________________ Drums 

 

 

Each pallet can hold 4 drums. 

 

 
 
 

How many pallets will you need to have? _______________ Pallets 
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Question 2:  
 

Packing Enforce 2 Plus out of Mix Vat 2 (9,000 Litres)  

 

How many 20 Litre “Jerry cans” will you get out? ______________ Jerry Cans 

 

Each pallet can hold 38 Jerry cans. 

 

 
 

How many pallets will you need to have?  

 

_______________ Jerry Cans / 38 = _______________ Pallets 

 

 

How many 20 Litre Jerry Cans will be on the last pallet?  

 

_______________ x 38 = _______________ Jerry Cans 
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Question 3: 
 

Packing Enforce 2 Plus out of Mix Vat 2 (9,000 Litres)  

 

You only have room in the yard for 16 x 200 Litre Drums: 

 

3a 
How many Pallets is needed to pack these 16 Drums? 

 

_____________ Drums / ___________ Drums per Pallet = ____________ Pallets 

 

 

3b 
How many Litres is left over? 

 

 

9,000 Litres – (16 x 200L) = ___________ Litres 

 

 

9,000 – (____________) = ____________ Litres 

 

 

3c 
How many 20L Jerry Cans need to be packed out with the remining Liquid? 

 

 

___________ Litres / 20 Litre Jerry Cans = ___________ Jerry Cans 

 

 

 

3d 
How many Pallets are required to hold these Jerry Cans? 

 

 

________ Jerry Cans / 38 Jerry Cans per Pallet = _____________ Pallets 
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Pallet Cost Increase 

 

Question 4: 
 

200 Litre Drums were used to pack out the 9,000 Litre Enforce 2 Plus mix. 

 

 

In Question 1 you worked out that _________ Pallets is needed to pack out this mix 

 

 

 

4a 

 
The cost of each pallet is $10. 

 

What is the total cost of the Pallets to pack out this mix? $___________ 

 

 

 

4b 

 
The cost of each Pallet reduces to $5 

 

How much do the pallets cost now to pack out the mix? $____________ 

 

How much money (profit) is made by this reduction in cost? $____________ 

 

 

 

4c 

 
The cost of each of each Pallet increases to $15 

 

How much do the pallets cost now to pack out the mix? $____________ 

 

How much money is now being lost by this increase in cost? $____________ 
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Question 5: 
 

20 Litre Jerry Cans were used to pack out the 9,000 Litre Enforce 2 Plus mix. 

 

 

In Question 2 you worked out that _________ Pallets is needed to pack out this mix 

 

 

 

5a 

 
The cost of each pallet is $10. 

 

What is the total cost of the Pallets to pack out this mix? $___________ 

 

 

 

5b 

 
The cost of each Pallet reduces to $5 

 

How much do the pallets cost now to pack out the mix? $____________ 

 

How much money profit is made by this reduction in cost? $____________ 

 

 

 

5c 

 
The cost of each of each Pallet increases to $15 

 

How much do the pallets cost now to pack out the mix? $____________ 

 

How much money is now being lost by this increase in cost? $____________ 
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